%
g(X) DHIFHE E(g(X)) :
( Z g(x;)pi = ZQ(CUi)f(CL‘i),
Z MR
Eg(X) ={ _
| s@s@aa,
\ SRR TN
| BEZH X 0T B(X)

— X OHATFE, g(X) =X
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E(X)={ ‘w
/ zf(x)de, EHEERTH

—p,  (EE, p)

2. BREH X 098 V(X)
— (X — p)? OHFFSHE, g(X) = (X — p)?

V(X) =E((X — p)*)
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/_ (@ — w)*f(2)de,

\ TR SR AT Y
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RELH X OHH V(X)

—> X OERDHOEREY BHEDIZS), i3, BRFEERHK
(EHEDFZE) OEEDLITNIE, V(X) IFRKEL,

W< 2R :
1. CL, b %E&t?éo
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FI . E(aX +b) =aE(X)+b
FIEEA :
X DR THDSS,

E(aX 4 b) = Z(awi +b) f (x:)
= aszf(wz + bz £ ()
— GE(X) + b
BRT, ) f(w) =1 ICEE
X h‘ﬁﬁéﬁ%ﬁ&@%é,

E(aX +b) = /_oo (ax + b) f(x)dx
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=a/ :cf(zc)d:c—l—b/oo f(x)dx
=aE(X)+b

BT, / Y fr)de = 1 1R

CEE D V(X)) =E(X?) — p?

EIERA :

V(X) =E((X — p)?)
=E(X? —2uX — u?)
= E(X?) — 2uE(X) + p?
=E(X?) — p?*
ERT, p=E(X) ICEER
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3.a,b ZTFHLCT S
EHE: V(aX +b) = a?*V(X)
FIEFA :
E(aX +b) =ap+b ITFELT,
V(aX + b) =E(((aX + b) — E(aX + b))?)
=E((aX — ap)?)
=E(a*(X — p)?)
=a’E((X — p)?)
= a’V(X)
z15%
4. B . BT X IC2VWT, E(X) =pu, V(X)) =0% £T 3,
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SRR
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o
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o o o2
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( Z Zg(mia yj)f(wia yj)a
v g

E(g(X’ Y)) = 9

/_ /_ 9(z,y) f(x,y)dzdy,
Ef R T

\
1. BEZH X DT E(X)
— X OHIFHE, g(X,Y) =X
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(5" @if (@i, u5),s
i

/ / xf(x,y)dxdy,

ER R

E(X) =

:,j,w

2. ERZTH X O9E V(X)
= (X — pa)? OHFHE, g(X,Y) = (X — pa)?

V(X) = E((X — 1o)?)
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( E g (331 - Mm)zf($i,yj),
]
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\
— 2
=0,

3. LT X, Y OHDE Cov(X,Y)

Cov(X,Y)
— (X — ) (Y — 1)
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(3@ — 1) (ws — 1) f (@i w5),
ig
RER R R

/_ /_ (¢ — pe) (Y — py) f (z, y)dxdy,
AR

\
W< 2HhDn :
1. BERETH X, Y ICDVWT,
EFHE: E(X+Y)=EX)+E(®Y)
EEER -

mx+ﬂ=2§3w+Wﬂ%w)
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=D > zif(zi,y))
+D > vuif (@i y;)

—E(X) + E(Y)

TR X LY NI L E,
FHE: E(XY)=EX)E®Y)
SEEA :

B(XY) =} > @iy;f(wiy)
— Z Z wzyjf(wl)h’(y])
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— Z xif (x;) Z yih(y;)
_B(X)E(Y)

CHEREH X, Y ICDWT,
FE: Cov(X,Y)=E(XY)—-EX)E®Y)
EIERA :

Cov(X,Y)
— Z Z(a:,- — ko) (Y5 — Hy)Pij

— Z Z(ngyj — Palj — HyT; + Pafly)Dij
i

— Z Z x;y; f (i, yj)
T J
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— Mo Z Z y; f (i, y5)
— Hy Z Z z; f(Tis yj)
+ Moy Z Z f(xi, ;)

= Z Z wzyjf(wu y] — Uy — Hyfle + g fby
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—E(XY) — E(X)E(Y)

4. BEEH X £ Y MO &,
E(XY) = E(X)E(Y)
EF5DT,
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5. HHEIRE poy -
Cov(X,Y)

— VX))
~ Cov(X,Y)

Pzy

6. BERZH X L Y MDD E,
Cov(X,Y) =0
LH3DT,
Pzy = 0
Z219%.
7. HBREH X,Y I22WT,
V(X £Y)=V(X)+2Cov(X,Y) + V(Y)
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RDES5% t ICEATEHEEZD. f(t) = V(Xt—-Y)
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10.

pzy DY —1 ICIEVIEY, BOHEEHEL KD,

ERTH X Y MBI F,

FE: V(X +Y)=V(X)+V(Y)

EIEEA :

V(X +Y) = V(X) 4+ 2Cov(X,Y) + V(Y)
BEREZH X £ Y BMHIIoL E,
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BDT,

V(X+Y)=V(X)+ V(Y)
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V(¥ Xi) = B(Z (X — mi)”
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